Cam Followers

C 4] C 4]

21N ”
AN
i W
E"';— I,L g e -Eg-il————— —————— 1r-r:
(=] [~ 2 = :E‘__j::-}—- ---'-';---"-:---*L.L:- -
W ! (AT
w — \ T T b- <

(5]
3]

Dimension table Cam Followers:

KR16 0,15 3150 3300 22000
KRE16 11 0,15 3150 3300 22000

KRV16 0,15 4850 6500 8500
KRVE16 0,15 4850 6500 8500
KR19 3500 3900 20000

Pagel/4



KRE19
KR19PP
KRE19PP
KRV19
KRVE19
KRV19PP
KRVE19PP
KR22
KRE22
KR22PP
KRE22PP
KRV22
KRVE22
KRV22PP
KRVE22PP
KR26
KRE26
KR26PP
KRE26PP
KRV26
KRVE26
KRV26PP
KRVE26PP
KR30
KRE30
KR30PP
KRE30PP
KRV30
KRVE30
KRV30PP
KRVE30PP
KR32
KRE32
KR32PP
KRE32PP
KRV32
KRVE32
KRV32PP
KRVE32PP
KR35
KRE35
KR35PP

19
19
19
19
19
19
19
22
22
22
22
22
22
22
22
26
26
26
26
26
26
26
26
30
30
30
30
30
30
30
30
32
32
32
32
32
32
32
32
35
35
35

32
32
32
32
32
32
32
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
36
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
40
52
52
52

20
20
20
20
20
20
20
23
23
23
23
23
23
23
23
23
23
23
23
23
23
23
23
25
25
25
25
25
25
25
25
25
25
25
25
25
25
25
25
32,5
32,5
32,5

00 00O 0O O OO O OO O ) OO O O O o O O O

11
11
11
11
11
11
11
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
14
18
18
18

0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,8
0,8
0,8

0,15
0,15
0,15
0,15
0,15
0,15
0,15
0,3
0,3
0,3
0,3
0,3
0,3
0,3
0,3
0,3
0,3
0,3
0,3
0,3
0,3
0,3
0,3
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6
0,6

14
14
14
14
14
14
14
17
17
17
17
17
17
17
17
17
17
17
17
17
17
17
17
23
23
23
23
23
23
23
23
23
23
23
23
23
23
23
23
27
27
27

W W W W wwwwwwwwwwwwwww

M8
M8
M8
M8
M8
M8
M8
M10x1
M10x1
M10x1
M10x1
M10x1
M10x1
M10x1
M10x1
M10x1
M10x1
M10x1
M10x1
M10x1
M10x1
M10x1
M10x1
M12x1,5
M12x1,5
M12x1,5
M12x1,5
M12x1,5
M12x1,5
M12x1,5
M12x1,5
M12x1,5
M12x1,5
M12x1,5
M12x1,5
M12x1,5
M12x1,5
M12x1,5
M12x1,5
M16x1,5
M16x1,5
M16x1,5

10
10
10
10
10
10
10
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
12
13
13
13
13
13
13
13
13
13
13
13
13
13
13
13
13
17
17
17

(o) I e) W) JiNe) e ) Wie ) W) BN@ ) B« ) Wil ) M@ ) B @ ) I e RRi@ » B @ » I« ) W » RRiT@ » I @ ) TR = St S S N S S S TR ~ Y N~ i S SR T ~ I N S~ SN

11

11

11

11

13

13

13

13

13

13

13

13

15

15

15

15

15

15

15

15

20

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

0,5

3500
3500
3500
5500
5500
5500
5500
4450
4450
4450
4450
6300
6300
6300
6300
5100
5100
5100
5100
7300
7300
7300
7300
6800
6800
6800
6800
9500
9500
9500
9500
7100
7100
7100
7100
10000
10000
10000
10000
9700
9700
9700

3900
3900
3900
7900
7900
7900
7900
5200
5200
5200
5200
9100
9100
9100
9100
6200
6200
6200
6200
11300
11300
11300
11300
8400
8400
8400
8400
14600
14600
14600
14600
9000
9000
9000
9000
15800
15800
15800
15800
14100
14100
14100

20000
14000
14000
7000
7000
7000
7000
16000
16000
11000
11000
6000
6000
6000
6000
16000
16000
11000
11000
6000
6000
6000
6000
11000
11000
8300
8300
4500
4500
4500
4500
11000
11000
8300
8300
4500
4500
4500
4500
7000
7000
7000

Page2/4



KRE35PP
KRV35
KRVE35
KRV35PP
KRVE35PP
KR40
KRE40
KR40PP
KRE40PP
KRV40
KRVE40
KRV40PP
KRVE40PP
KR47
KRE47
KR47PP
KRE47PP
KRV47
KRVE47
KRV47PP
KRVE47PP
KR52
KRE52
KR52PP
KRE52PP
KRV52
KRVE52
KRV52PP
KRVE52PP
KR62
KRE62
KR62PP
KRE62PP
KRV62
KRVE62
KRV62PP
KRVE62PP
KR72
KRE72
KR72PP
KRE72PP
KRV72

35
35
35
35
35
40
40
40
40
40
40
40
40
47
47
47
47
47
47
47
47
52
52
52
52
52
52
52
52
62
62
62
62
62
62
62
62
72
72
72
72
72

16
16
16
16
16
18
18
18
18
18
18
18
18
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
20
24
24
24
24
24
24
24
24
24
24
24
24
24

52
52
52
52
52
58
58
58
58
58
58
58
58
66
66
66
66
66
66
66
66
66
66
66
66
66
66
66
66
80
80
80
80
80
80
80
80
80
80
80
80
80

32,5
32,5
32,5
32,5
32,5
36,5
36,5
36,5
36,5
36,5
36,5
36,5
36,5
40,5
40,5
40,5
40,5
40,5
40,5
40,5
40,5
40,5
40,5
40,5
40,5
40,5
40,5
40,5
40,5
49,5
49,5
49,5
49,5
49,5
49,5
49,5
49,5
49,5
49,5
49,5
49,5
49,5

O U O O LWL WLV OV VWLV O OouwvVuoooowvVwOwOo 0 00 O 0 0 0 0 0 0 0 0

R R R R R R R R R R R R R
R R R R R RRPRRRRR R R

18
18
18
18
18
20
20
20
20
20
20
20
20
24
24
24
24
24
24
24
24
24
24
24
24
24
24
24
24
29
29
29
29
29
29
29
29
29
29
29
29
29

0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8
0,8

N N R R S N
[ Mo IR )

P PR R PR RRPRRPRERRRPRERREPRRLRREPRRLRREPRRREPRERRERRRPR

ol - L Kaglagl
[ N N

27
27
27
27
27
32
32
32
32
32
32
32
32
37
37
37
37
37
37
37
37
37
37
37
37
37
37
37
37
44
44
44
44
44
44
44
44
44
44
44
44
44

A BB PP PEPAAMEPREPAEAEEEPPAEBEAEAAEBEAEPEPAEPAPPWWWWWWWWWWWWW

M16x1,5
M16x1,5
M16x1,5
M16x1,5
M16x1,5
M18x1,5
M18x1,5
M18x1,5
M18x1,5
M18x1,5
M18x1,5
M18x1,5
M18x1,5
M20x1,5
M20x1,5
M20x1,5
M20x1,5
M20x1,5
M20x1,5
M20x1,5
M20x1,5
M20x1,5
M20x1,5
M20x1,5
M20x1,5
M20x1,5
M20x1,5
M20x1,5
M20x1,5
M24x1,5
M24x1,5
M24x1,5
M24x1,5
M24x1,5
M24x1,5
M24x1,5
M24x1,5
M24x1,5
M24x1,5
M24x1,5
M24x1,5
M24x1,5

17
17
17
17
17
19
19
19
19
19
19
19
19
21
21
21
21
21
21
21
21
21
21
21
21
21
21
21
21
25
25
25
25
25
25
25
25
25
25
25
25
25

0O 00O OO 0O OO 00O 00O 0O 0O OO 0O 0O 00O OO OO 00O OO OO OO 00O OO0 OO OO OO0 OO0 OO0 ©0 00O 00O Oy Oy Oy Oy Oy Oy Oy Oy O O O O OO

20

20

20

22

22

22

22

24

24

24

24

24

24

24

24

28

28

28

28

28

28

14

14

14

16

16

16

16

18

18

18

18

18

18

18

18

22

22

22

22

22

22

9700
12800
12800
12800
12800
10900
10900
10900
10900
14800
14800
14800
14800
15500
15500
15500
15500
20600
20600
20600
20600
16800
16800
16800
16800
22500
22500
22500
22500
26500
26500
26500
26500
34000
34000
34000
34000
28000
28000
28000
28000
37000

14100
23000
23000
23000
23000
15500
15500
15500
15500
26500
26500
26500
26500
25500
25500
25500
25500
42000
42000
42000
42000
28500
28500
28500
28500
48000
48000
48000
48000
47500
47500
47500
47500
76000
76000
76000
76000
53000
53000
53000
53000
85000

7000
3400
3400
3400
3400
6000
6000
6000
6000
2900
2900
2900
2900
4900
4900
4900
4900
2600
2600
2600
2600
4900
4900
4900
4900
2600
2600
2600
2600
3800
3800
3800
3800
2200
2200
2200
2200
3800
3800
3800
3800
2200

Page3/4



KRVE72
KRV72PP
KRVE72PP
KR80
KRE80O
KR80PP
KRE8OPP
KRV80
KRVE80
KRV80PP
KRVESOPP
KR85
KRE85
KR85PP
KRE85PP
KR90
KRESO
KR9OPP
KRESOPP
KRV90
KRVE9SO
KRV9O0PP
KRVESOPP

72
72
72
80
80
80
80
80
80
80
80
85
85
85
85
90
90
90
90
90
90
90
90

24
24
24
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30

Every specification has been edited
and verified carefully. STI Bearings GmbH

assumes no liability for potential errors
or incompleteness. Technical
modifications are subject of changes.
© 2020 by STI Bearings GmbH

Reproduction, even excerpts, only

with our approval.

80
80
80
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100
100

49,5

49,5

49,5
63
63
63
63
63
63
63
63
63
63
63
63
63
63
63
63
63
63
63
63

11
11
11
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15
15

29
29
29
35
35
35
35
35
35
35
35
35
35
35
35
35
35
35
35
35
35
35
35

===
=0 ™ ™

R PR R P RRPRRERRRPRRERRRLRRERRRERR

1,1
11
1,1
11
11
11
1,1
11
11
11
1,1
11
11
11
1,1
11
11
11
1,1
11
11
1,1
11

44
44
44
53
53
53
53
53
53
53
53
53
53
53
53
53
53
53
53
53
53
53
53

A A DA EPEDEEPEDEEEDSEBN

M24x1,5
M24x1,5
M24x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5
M30x1,5

25
25
25
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32
32

00O 0O 00 00O 00O OO 0O 00O 00O 0O 0O 00O 00O 00O 00O 00O 00O 00O 00 00 00 00 O

28

28

35

35

35

35

35

35

35

35

35

35

22

22

29

29

29

29

29

29

29

29

29

29

37000
37000
37000
39500
39500
39500
39500
49500
49500
49500
49500
40500
40500
40500
40500
41500
41500
41500
41500
53000
53000
53000
53000

85000
85000
85000
77000
77000
77000
77000
120000
120000
120000
120000
80000
80000
80000
80000
83000
83000
83000
83000
130000
130000
130000
130000

2200
2200
2200
2600
2600
2600
2600
1700
1700
1700
1700
2600
2600
2600
2600
2600
2600
2600
2600
1700
1700
1700
1700

Paged /4



